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Syntax in Linguistics
Titles under discussion:

*Constructive and Controlling rules in the formation of grammatical sentences
*Procedures to analyze the construction of a sentence
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Grammar

Definition : Grammar is the controlling rules according to which words are set by each other
to form a meaningful sentence.
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Types of grammar :

Descriptive : This approach studies the grammar of the language according to how it is
used and how the words are put together to form sentences .
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Prescriptive : The approach that studies the grammar of a language according to the

grammar of other languages . This approach focuses on how the elements should be put
together.
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Traditional grammar : In this approach , the formation of a sentence is studied due to the
parts of speech that are used to label the grammatical categories of the words as noun , article
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adjective , verb , adverb , preposition , pronoun and conjunction. The parts of speech in the
sentence should agree with each other in number , person , tense , gender (my with 1) .
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Generative grammar : This approach studies the grammar according to a small and limited
set of rules that are capable of producing a large and unlimited number of well-formed
structures which is used to “generate” sentence structures . Here , generative rules form

the words into small constituents , small constituents into bigger constituents and bigger
forms finally form sentences.
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Constituent analysis : This technique is designed to show how small constituents go
together to form larger constituents. One basic step is determining how words go together
to form phrases.
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S : (sentence)

NP : (noun phrase)
VP : (verb phrase)

N : (noun)

V : (verb)

Art : (article)

Det : (determiner)

Generative approach introduces the terms “Deep structure” and “Surface structure” :
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Deep structure : The abstract level of structural organization in which all the elements
determining structural interpretation of the sentence are represented.
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Surface structure : The concrete structural organization on which the sentence appears.
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Note :

A ) Sentences with two distinct surface structures but one deep structure have one meaning
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B ) Sentences with one surface structure but distinct deep structures have distinct meanings
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Ambiguity : The realization of various meanings from one surface structure .
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Ambiguity is categorized in two groups :
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Lexical ambiguity : One word with different and unrelated meanings termed as homonyms.
eg. | went to the bank yesterday.
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Structural ambiguity : One surface structure with different and unrelated meanings .

eg. I saw him in the bus.
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Syntax
Sentence Analysis
In English, every sentence is composed of two constituents and one label intervening between

these constituents due to the following diagram :
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S
NP Aux VP
Example : Birds can fly .
S
NP Aux VP
N Vv
Birds can fly

Each constituent can be complicated or consist of one or more sub-constituents.
Examples :

A young student analyzed the complex sentence correctly.

NP : A young student :

{Art:a , Adj:young , N:student}

VP : analyzed the complex sentence correctly

{V :analyzed , NP : [Det:the , Adj:complex , N :sentence] , Adv : correctly}

S
NP VP
Art Adj N \ NP Adv
Det Adj N
A young student analyzed the complex sentence correctly



She gave the pocket to the man.

NP : { N (Pron) : she}
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VP :{V :gave ,NP: [Det:the, N:pocket],PP:P:to, NP:[Det:the , N:man]}

NP

Pron

She

VP
NP PP
Det N P NP
Det N
the pocket to the  man

Ambiguous sentences : Due to different deep structures, one surface structure has different

meanings.

Example : | saw my friend in a bus .

Deep structure No. 1 : | saw my friend when | was in a bus.

Deep structure No. 2 : | saw my friend when he was in a bus.
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Tree diagram No 1 :

S
/\
NP VP
% \
Pron \% NP PP
/NN
Poss N P NP
AN
Art N
\
I saw my  friend in a bus
Tree diagram No. 2 :
S
/\
NP VP
7
Pron V NP
N
Poss N PP
o
Aﬁ\N

I saw my friend in a bus
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Auxiliary label in Tree Diagrams

Auxiliary branch which intervenes between the NP and VP in a Tree Diagram is just a branch
which represents the tense of the verb. In most verbs inflected in Simple Present Tense and
Simple Past tense , this branch is absent in the Tree diagram since the functional free morpheme
“do”, functioning as the auxiliary verb of the sentence, is absent in the surface structure, and the
morpheme denoting the simple present and simple past tense is a bound morpheme which cannot
occur independently and just occurs attached to the verb itself (as the suffixes “s” for the third
person singular,“ed” or a zero morpheme),unless the auxiliary is to occur in the surface structure.

Tom laughed .
S
NP Aux VP
N V
Tom ed laugh
Tom did laugh

However in sentences with modal auxiliaries, since the modal auxiliary is a functional free
morpheme and represents the tense of the verb, it appears in the T diagram as just one element.

Tom might laugh.

S
NP Aux VP
N \/
Tom might laugh
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The same procedure can be seen in sentences with the auxiliary “have” and its inflections “has”
and “had” in perfect tenses :

S
NP Aux VP
N Vv
Tom has laughed

However, in sentences with linking verbs (verbs that don’t show an action but rather describe the
subject) , the procedure seems a bit different. Although all linking verbs like “seem” occur as
normal main verbs in sentences and meet the same analysis process in T diagram, the procedure
goes under some exceptions for the inflections of the verb “be” (ie. am , is , are , was , were).
The inflections of “be”, although still presenting as linking verbs in sentences, act as auxiliary
verbs, too, though they are not auxiliaries at all . In a sentence like :

Students are happy .

“are” is a verb itself and carries the tense and completes the sentence as well.

S
NP VP
N Present Tense bound morpheme V Adj
Students ? be happy
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However in a sentence like :
Students are laughing .

the main verb is “laugh” , inflected with “ing” , and “are” acts as an auxiliary, carrying the tense,
although acting as a linking verb (for the present participle “laughing”), too.

S
NP Aux VP
N Vv
Students are laughing

Clauses embedded in sentences

A clause is a unit of grammatical organization next below the sentence in rank. Clauses are
embedded in sentences as complementary or relative forms.

A “complementary clause”, mainly titled as a noun clause , initiates in a complement maker and
occurs in the NP constituent of a sentence .

A “relative clause”, on the other hand, initiates in a relative maker and occurs right after a noun
in a sentence to describe or explain its features.

Tree diagrams of sentences embedded with complementary clauses :

A complementary clause acts as the NP constituent in a sentence. Consider the following
sentence :

Tom guessed something.

“something” in the sentence above stands in the NP constituent of the VP , traditionally titled as
“direct object” of the verb “guess”.

10
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S
NP VP
N \Y NP
N
Tom guessed something

In the sentence above or likewise, any clause or phrase substituting “something” will represent
the function of the NP.

Tom guessed that Joe lived in London.

S
NP VP
N \% C
Sub S
NP VP
N Vv PP
P NP
N
Tom guessed that Joe lived in London

Note : In sentences with complementary clauses, the subordinator “that” which stands at the very
beginning of the clause can be omitted in surface structure but retrieved in deep structure.

11
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Tree diagrams of sentences embedded with relative clauses :

A relative clause is embedded in the sentence right after the noun that it is supposed to describe.
All relative clauses are initiated in a relative maker , known as “relative pronoun” with a dual
function : a subordinator and a pronoun. Any noun in any constituent of the sentence can be

described by a relative clause.

The man who lives here seems rich.

(who ~ that + he)

S
NP VP
Det N C \Y Adj
Sub S
NP VP
Rlpr \ P.Adv
The man 0 who lives here seems rich
Tom knows the man whom you admire. ( whom ~ that + him )
S
NP VP
N \ NP
Det N C
Rlpr S
NP VP
Pron V NP
A
Tom knows the man whom you admire 0O

12
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Tree diagrams of sentences with a prepositional phrase as NP in their VP :

Students wish something.

/S\

NP VP

N \% N\P

N
Students wish something

“something” is a noun phrase , therefore any clause or phrase which is substituted for it is
considered to be a nominal one.

Studious students wish to pass their exams in June.

/S\
NP VP
Adj N \ PP
P VP
V NP PP
Poss N P l\\IP
N
Studious students wish to pass their exams  in June
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Tree diagrams of sentences with a complementary clause as their NP :

It amazes me.
S
/\
NP VP
Pron V NP
Pron
It amazes me

That he has answered the question amazes me.

S
 \
NP
C \Y
Sub S
N
NP Aux VP
/N
Pron V NP
/N
Det N
That he has answered the question amazes

14
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Tree diagrams of sentences with phrases :

The man keeping a brown wallet in his hand paid the money yesterday.

S
/\
NP VP
T
Det N VP \Y NP T.Adv
/\\ /N
\Y Det N
AN / \
Art Adj N
/ / / / Poss
The man keeping a brown wallet in  his hand paid the money yesterday

We saw a little girl combing her hair there.

S

/\

NP VP

Pron NP P.Adv
// / / Poss

We a little girl combing her hair there

15
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Who plays the guitar so beautifully?

S
/\
NP VP
/’\
N Vv Adv.P
N N
Det Int Adv
Who plays the guitar o) beautifully

Whom did the man visit in the library ?

( The man visited whom in the library )

/S
NP Aux NP VP
\
N Det N VvV NP PP
P
Det
Whom did the man visit 0 in the library

16
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Where did the artist paint the portrait ?
( The artist painted the portrait where )

//v

17

Aux
/\ /\ .
Adv
A A\
Det N
Where did the artist paint the portrait O
Make sure to finish the job on time.
S
NP VP
|
A\ Vo Adj PP PP
P VP P NP
\% NP N
Det N
0 Make  sure to finish the job on time
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They should have written the letter earlier.

//S\
NP Aux VP
Pron Perf.M \ NP Adv.
Det N
They should have written the letter earlier
The fireman put out the fire.
S
NP VP
Det N Y, NP
V Part Det N
The fireman put out the fire

18
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The firemen put the fire out.

S
NP VP
Det N Vv NP
/ ) / \
\
\

V part Det N part

The fireman put -0 the fire out

Note : Grammatically, a particle is an adverb, therefore it is directly under the domination of VP.

A man of silence does his job quietly.

S
/\
NP VP
Art N PP \Y NP Adv
N N
P NP Poss N
N
A man  of silence does his job  quietly

19
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A young tiger was seen in the woods near the town.

S
/\
NP Aux VP
At Adj N Y PP PP
NN
P NP P NP
/\ N
Det N Det N
A young tiger was seen in the woods near the town

The problem has been solved by a very clever student recently.

S
NP Aux VP
N \
Det N PerfM \Y PP Adv
/N
P NP
Art Int Adj N
The problem has been solved by a very clever student recently

20
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Constituent Analysis

living in a large garden with his family

NP
/ N
Grnd PP PP
P NP P NP
RN N\
Art  Adj N Poss N
living in a large garden  with his family
to put the English book in the shelf
PP
/ \
P VP
D
Y, NP PP
SN N
Det  Adj N P NP
/N
Det N
|
to put the English book in the shelf
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